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(1) EAKGEAGARD

(%44 A 1 AELE)

X ga) fir ok 28 4E | Y Rk 29 4FE | Y R 30 4E | F gk 31 4F AFn2 4R
ITE XA A O
: A 49,677 49,353 49,082 48,686 48,279
(FREKER)
7\%/_\
ZE WOk AN & A 43,450 43,201 42,953 42,656 42,329
A
N ook it B g = 20,047 19,674 19,738 19,670 20,031
oK B Gs 18,057 18,203 18,269 18,427 18,487
O B ok &= m 9,135,746 8,926,615 8,790,011 8,857,965 8,720,023
£ kR oKk & m 8,078,143 7,887,023 7,765,737 7,825,773 7,703,905
A K & m 7,493,678 7,329,492 7,223,474 7,279,318 7,165,959
e
K B OA I K & m 6,957,918 6,799,158 6,694,601 6,746,356 6,641,297
= 1 H %K & \
_ m 19,011 18,628 18,341 18,483 18,146
(A IL K &)
1 H & K#HK=E o 27,709 27,053 26,638 26,844 26,426
1 A1 HRKRFEKE 0 638 626 620 629 624
1A YV & ,
_ m 347 346 339 343 332
(A IL K &)
fif 5
AL 0 EH ,
A _ - m 385 374 366 366 359
. = (A K &)
i=2N
1AN1H B E
_ 0 438 431 427 433 429
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=111}
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8 LFTXKE

(2) TFKETBKUIERRD
(%44 A 1 AELE)

A E OBk 28 4E | F Bk 29 4E | F Bk 30 4E | E R 314E | AFN24E
A X @ B | ha 1,009.8 1,009.8 1,009.8 1,058.6 1,058.6
%% i % | M ha 796.0 796.9 798.2 798.2 798.7
% A B R IE R m 167,844 168,245 168,698 168,788 169,095
LBR X i FE ha 796.0 796.9 798.2 798.2 798.7
B B A A 49,677 49,353 49,082 48,686 48,279
. (EREREBDE) ’ ’ ’ ’ ’
i
e LER X AN [ A 33,458 33,505 33,589 33,438 33,274
7N
UL i X = | % 67.4 67.9 68.4 68.7 68.9
ALER X dk F K I 13,781 13,822 13,849 13,915 13,932
Y/ | AR N A 31,243 31,393 31,548 31,431 31,277
7K
e KOBE b T & = 12,430 12,495 12,562 12,634 12,650
1t
%5 AKEEALFER(ND) % 93.4 93.7 93.9 94.0 94.0
1
KAl F (7 %) % 90.2 90.4 90.7 90.8 90.8
A IR +
o \ 5,751 5,503 5,637 5,606 5,594
(EJE/ZF_WJ(E m
R T AR i) 6,346 6,420 6,318 6,347 6,500
TN (JLFR) 7k B m ’ ’ ’ ’ ’
EE FKERR



